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1
1.1
sampled
1.1.1
[ 9.81]
1.1.2
Ae
mv
Cc
v =0.45
1.1.3
@
e
- 3000
@
d = 2.000(m)
dw = 0.500(m)
1.2
(€)) N 4
@
No
1
2
3
4
Cv
No yt ce go w E
(kN/m°) Cs KN/m2) | () | (kN/m2) a
1 14.400 1.0000 0.1000 0.0 300.0 1000.0 1.00
2 5.200 1.0000 0.1000 0.0 300.0 1000.0 1.00
3 5.200 1.0000 0.1000 0.0 300.0 1000.0 1.00

FORUMS8



No yt Ce qo w E v
(kN/) Cs /m2) | () | k) |«
4 5.200 | 1.0000 | 0.1000 0.0 | 300.0| 1000.0| 1.00
©) ( )
Cv
No (kﬁ/ﬁ%‘ Ce Cs (kN/mgg ) (kNEmZ) a
1 12.110 | 1.0000 | 0.1000 0.0 | 300.0| 1000.0| 1.00
2 15.010 | 1.0000 | 0.1000 0.0 | 300.0| 1000.0| 1.00
3 15.010 | 1.0000 | 0.1000 0.0 | 300.0| 1000.0| 1.00
4 15.010 | 1.0000 | 0.1000 0.0 | 300.0| 1000.0| 1.00
* Cv a Ch
Ch=a Cv

FORUMS8



* ( 2 m
1 1( 2( 3( 4(
-50.000 | 1.000 4.000 2.000 2.000 3.000
110.000 | 1.000 4.000 2.000 2.000 3.000

FORUMS8




(5) e logP
P :
e

[1]

(KN/m?)

1.75

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.570

2.500

2.480

2.400

2.200

2.100

1.700

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.100

2.000

1.990

1.900

1.800

1.600

1.500

FORUMS8



(6) e logP
P : (kN/m?)
e -

[1]

100

5

6

7

P 10.000 20.000

40.000

80.000

100.000

200.000

500.000

e 4.640 4.500

4.300

4.200

3.800

2.800

2.000

100

5

6

7

P 10.000 20.000

40.000

80.000

100.000

200.000

500.000

e 2.100 2.000

1.990

1.900

1.800

1.600

1.500

FORUMS8



(7) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[ 1]
i 1
P 10.000
Cv 86.4
[4]
i 1
P 10.000
Cv 171.9
(8) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[1]
i 1
P 10.000
Cv 43.2
[4]
i 1
P 10.000
Cv 171.9

FORUMS8
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1.4
€Y 5
@
[ 1]
L
No. () (m) (m) m | C) (m) (kN/mr)
-30.000 | 120.000 | 10.000 |  5.000 | 30.00 |  10.000 10.000
[ 2]
L
No. (m (m (m m | C) (m (kN/m’)
-20.000 | 100.000 | 10.000 |  5.000 | 30.00 |  10.000 10.000

FORUMS8




[ 3]
L
No. m (m (m m | C) (m (kN/m’)
-10.000 80.000 | 10.000 5.000 | 30.00 10.000 10.000
[ 4]
L
No. (m (m (m m | C) (m (kN/m’)
0.000 60.000 | 10.000 5.000 | 30.00 10.000 10.000
[ 5]
L
No. (m (m (m m | C) (m (kN/m)
10.000 40.000 | 10.000 5.000 | 30.00 10.000 10.000

FORUMS8
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1.5
X
No. (m)
1 30.000
2 50.000

FORUMS8
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1.6
1.6.1

5 1@ D
| @ @
® @
10 -
@ @
(m) (1) 2
J& X5y

@ Kb ol i Pk Ak
@ : FEIEREB

@ : RIRE

@ b o g R A

® ©® 0 6

FORUMS8
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1.6.2
€Y)
0.000 0.000
-50.000 | 110.000
@
[ 1]
5.000 5.000
[ 2]
7.000 7.000
[ 31
9.000 9.000
[ 4]
12.000 12.000
®
1.000 1.000

FORUMS8
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1.7

[P*+ P*/2] mv
[V P™*(P"+ P")] Cv
[ 1

FORUMS8




- 14 -

2
2.1
2.1.1 1
Lx = 30.000 (m)
\A
\
@
P :
No. : (P ,DN
(m)
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
(m) (N/m?) | (KN/mP) | (kNZm?) | (KN/mY) 1 2 3 4 5
(N/m?) | (kN/m?) | (kNZm) | (NZmP) | (kN/mP)
1|UP 1.000 | 14.400 | 14.400 7.200 7.200 50.000 100.000 | 150.000 | 200.000 | 249.999
DN 4.000 2.300 | 23.600 4.600 19.000 49.997 99.990 149.976 | 199.937 | 249.736
2 | DN 2.000 5.200 | 34.000 5.200 28.800 49.972 99.922 149.815 | 199.519 | 248.167
3 | DN 2.000 5.200 | 44.400 5.200 39.200 49.935 99.818 149.570 | 198.908 | 246.162
4 | DN 3.000 5.200 | 60.000 7.800 52.200 49.856 99.598 149.063 | 197.690 | 242.689

FORUMS8



- 15 -

@ e
el — el
= — v H e e e e ( c0 > cl)
1 + eo
el PO q0
el PO+ P
uP
DN
1
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1]UP 1.000 2.5700 2.4387 0.1313 0.0368 0.037
DN 4.000 4.5104 4.2213 0.2890 0.0524 0.210
2 | DN 2.000 0.000
3 | DN 2.000 0.551
4 | DN 3.000 1.9554 1.7941 0.1613 0.0546 0.164
2SS 0.961 m
2
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1| UP 1.000 2.5700 2.1900 0.3800 0.1065 0.106
DN 4.000 4.5104 3.5492 0.9612 0.1744 0.698
2 | DN 2.000 0.000
3 | DN 2.000 0.960
4 | DN 3.000 1.9554 1.6796 0.2759 0.0933 0.280
2ZS 2.044 m
3
e — el
No. H(m) e0 el e0-el 1 + eo (m
1| UP 1.000 2.5700 2.1347 0.4353 0.1219 0.122
DN 4.000 4.5104 3.0432 1.4672 0.2663 1.065
2 | DN 2.000 0.000
3 | DN 2.000 1.256
4 | DN 3.000 1.9554 1.5993 0.3561 0.1205 0.361
2SS 2.804 m

FORUMS8




- 16 -

el — el
No. H(m) e0 el e0-el 1 + eo m
1|UP 1.000 2.5700 2.0846 0.4854 0.1360 0.136
DN 4.000 4.5104 2.7210 1.7893 0.3247 1.299
2 | DN 2.000 0.000
3 | DN 2.000 1.466
4 | DN 3.000 1.9554 1.5757 0.3797 0.1285 0.385
>SS 3.287 m
el — el
No. H(m) e0 el e0-el 1 + eo m)
1|UP 1.000 2.5700 1.9902 0.5798 0.1624 0.162
DN 4.000 4.5104 2.5421 1.9683 0.3572 1.429
2 | DN 2.000 0.000
3| DN 2.000 1.609
4 | DN 3.000 1.9554 1.5576 0.3978 0.1346 0.404
>S 3.604 m

FORUMS8




- 17 -

(©))
St = ¢t -Hi
St (m
Hi
e t:
e f
ct = ——
L+ Cpet?
e f :
Cos:
o

ef =1-Ke+Pi?)
yi= 0.16 + 0.00025 * wi
K = 0.81 — 0.00046 * wi
1
I + K+ P17
yo= 1.1 + 0.00023 * wi

¢f =

Kie = 1570 + wi”’

i)

(ERUEZ)

6 =0.82 + 0.23 - logiePi — 0.00025 - wi

= ©

kgf/cm?

wi =w0- ——— 100

w0

HO : cm
y d

94.1
Wn + 48.1

yd =

Wn

£t =0.9 ¢+ C,. 'log(—

)

ts
CaE
ts :

ts = (9-Cp)7F

upP
DN

cm

kN/m?

(ZRIES)

FORUMS8



- 18 -

1
Hn w AP
No. m C) | 5 Cor
3lon| 2.000| 300 | 49.9353 | 0.6756 1.594
1
No. ts( ) Cae (m)
3| DN 52 0.04957 3000 0.551
2
Hn w AP
No. m C ) | am 5 Cor
3/ON|  1.625| 231 | 49.8824 | 0.6929 1.037
2
No. ts( ) Cee (m)
3| DN 25 0.04282 3000 0.409
3
Hn W AP
No. m C) | v 5 Cor
3/oN|  1.310| 173 | 49.7525 | 0.7070 0.681
3
No. ts( ) Cae (m)
3| DN 13 0.03560 3000 0.296
4
Hn w AP
No. m ( ) (kN/mZ) 5 Cpf
3|on| 1.0s8| 128 | 49.3381 | 0.7175 0.461
4
No- | es( Y Ce m
3| DN 7 0.02823 3000 0.210

2SS

S

2SS

S

0.551 m

0.409 m

0.296 m

0.210 m

FORUMS8



- 19 -

5
Hn W AP
No. m C) | wm 5 Cor
3|DN| 0.861| 93 | 47.2539 | 0.7218 0.331
5
No. ts( ) Cae (m)
3 | DN 5 0.02082 3000 0.143

2SS

0.143 m

FORUMS8




- 20 -

2.1.2 2
Lx = 50.000 (m)
\A
\
@
P :
No. : (upP ,DN )
H (m)
Y (kN/m*)
PO (kN/m?)
P
No H y >YyH y H/2 PO
m (KN/m) | (KN/m) | (KNZIP) | KN/ 1 2 3 4 5
(KN/m) | KN/ | (kNZ) | (kNZmD) | (kNZmY)
1/|UP 1.000 | 14.400 | 14.400 7.200 7.200 50.000 100.000 | 149.999 | 199.204 | 199.999
DN 4.000 2.300 | 23.600 4.600 19.000 49.992 99.972 149.869 | 195.228 | 199.859
2 | DN 2.000 5.200 | 34.000 5.200 28.800 49.941 99.785 149.095 | 190.469 | 199.016
3 | DN 2.000 5.200 | 44.400 5.200 39.200 49.863 99.513 148.107 | 187.310 | 197.925
4 | DN 3.000 5.200 | 60.000 7.800 52.200 49.704 98.973 146.401 | 183.384 | 196.004
@) e
el — el
= T L e e e e (e0>el)
1+ eo
el PO g0
el PO+ P
upP
DN
1
el — el
No. H(m) e0 el e0-el 1 + eo m)
1]UP 1.000 2.5700 2.4387 0.1313 0.0368 0.037
DN 4.000 4.5104 4.2214 0.2890 0.0524 0.210
2 | DN 2.000 0.000
3 | DN 2.000 0.550
4 | DN 3.000 1.9554 1.7946 0.1609 0.0544 0.163
>S 0.960 m

FORUMS8




- 21 -

el — el
No. H(m) e0 el e0-el 1 + eo (m)
1/|UP 1.000 2.5700 2.1900 0.3800 0.1065 0.106
DN 4.000 4.5104 3.5494 0.9610 0.1744 0.698
2 | DN 2.000 0.000
3| DN 2.000 0.958
4 | DN 3.000 1.9554 1.6808 0.2747 0.0929 0.279
>SS 2.041 m
el — el
No. H(m) e0 el e0-el 1 + eo (m)
1]UP 1.000 2.5700 2.1347 0.4353 0.1219 0.122
DN 4.000 4.5104 3.0441 1.4663 0.2661 1.064
2 | DN 2.000 0.000
3 | DN 2.000 1.249
4 | DN 3.000 1.9554 1.6020 0.3534 0.1196 0.359
>S 2.794 m
el — el
No. H(m) e0 el e0-el 1 + eo (m
1/|UP 1.000 2.5700 2.0862 0.4838 0.1355 0.136
DN 4.000 4.5104 2.7400 1.7704 0.3213 1.285
2 | DN 2.000 0.000
3| DN 2.000 1.417
4 | DN 3.000 1.9554 1.5821 0.3733 0.1263 0.379
>S 3.216 m
0~ el
No. H(m) e0 el e0-el 1 + eo (m)
1/|UP 1.000 2.5700 2.0846 0.4854 0.1360 0.136
DN 4.000 4.5104 2.7213 1.7890 0.3247 1.299
2 | DN 2.000 0.000
3| DN 2.000 1.450
4 | DN 3.000 1.9554 1.5764 0.3790 0.1282 0.385
>S 3.270 m

FORUMS8




- 22 -

(©))
St = ¢t -Hi
St (m
Hi
e t:
e f
ct = ——
L+ Cpet?
e f :
Cos:
o

ef =1-Ke+Pi?)
yi= 0.16 + 0.00025 * wi
K = 0.81 — 0.00046 * wi
1
I + K+ P17
yo= 1.1 + 0.00023 * wi

¢f =

Kie = 1570 + wi”’

i)

(ERUEZ)

6 =0.82 + 0.23 - logiePi — 0.00025 - wi

= ©

kgf/cm?

wi =w0- ——— 100

w0

HO : cm
y d

94.1
Wn + 48.1

yd =

Wn

£t =0.9 ¢+ C,. 'log(—

)

ts
CaE
ts :

ts = (9-Cp)7F

upP
DN

cm

kN/m?

(ZRIES)

FORUMS8
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1
Hn w AP
No. m C) | 5 Cor
3lon| 2.000| 300 | 49.8634 | 0.6755 1.596
1
No. ts( ) Cae (m)
3| DN 52 0.04956 3000 0.550
2
Hn w AP
No. m C ) | am 5 Cor
3|/ON|  1.625| 231 | 49.6494 | 0.6924 1.042
2
No. ts( ) Cee (m)
3| DN 25 0.04281 3000 0.407
3
Hn W AP
No. m C) | v 5 Cor
3|/oN|  1.312| 174 | 48.5946 | 0.7045 0.696
3
No. ts( ) Cae (m)
3| DN 14 0.03551 3000 0.291
4
Hn w AP
No. m ( ) (kN/mZ) 5 Cpf
3lon|  1.065| 120 | 39.2024 | 0.6942 0.534
4
No- | es( Y Ce m
3| DN 10 0.02703 3000 0.168

2SS

S

2SS

S

0.550 m

0.407 m

0.291 m

0.168 m

FORUMS8



- 24 -

5
Hn W AP
No. m C) | wm 5 Cor
3|oN| 0.908| 102 | 10.6151 | 0.5706 0.810
5
No. ts( ) Cae (m)
3 | DN 33 0.01293 3000 0.033

2SS

0.033 m

FORUMS8




- 25 -

2.2
2.2.1
O _
2 -
(m) (N )
Nelk
0 -
2 -
(m) (N 2
JANY

FORUMS8




- 26 -

O _
2 -
(m) (N 2
JANY
0 -
2 -
(m) (N 2
JANY

FORUMS8
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(m)

(1)

(2)

JANY

FORUMS8
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() Em
(B+2hn * tan 6 )L

log
(L+2hn * tan 6 )B

Em =
1 (B+2hi + tan 8 ) (L+2hi-1 - tan §)
2 —log
Ei (14+2hi « tan 0 ) (B+2hi—1 + tan @)
Em Bz L
(m)
L (m
hn (m) B 3
hi (m)
Ei i
0 6 =30°
(@) Si
. —3ai * qi . ai 0.75 X X X X
Six = ¥X—1log 51n(tan1—) . {1.0— {(H—,) log l+— + (1——.) log 1—_.H
Em+ = H T ai ai ai ai
Six X (m)
qi
2ai (m
H (m)
n
X (m)
1
Lx = 30.000 (m)
1
No . (m (m (m) | Em (kN/m?) (kN/m*) (m) (m
1 120.000 10.000 12.000 1000.000 50.000 0.000 0.0611
1 >SS 0.0611 m
2
No . (m (m (m | Em  (kN/m%) (KN/m*) (m (m
1 100.000 10.000 12.000 1000.000 50.000 0.000 0.0738
2 >S 0.1349 m
3
No . (m (m (m | Em  (kN/m%) (kN/m*) (m (m
1 80.000 10.000 12.000 1000.000 50.000 0.000 0.0929
3 S 0.2277 m

FORUMS8



- 29 -

4
No m m (m) | Em (kN/m%) (kN/m?) m m
60.000 10.000 12.000 1000.000 50.000 0.000 0.1237
4 >S 0.3515 m
5
No m m (m) | Em (kN/m) (kN/m?) m m
40.000 10.000 12.000 1000.000 50.000 0.000 0.1772
5 S 0.5286 m
Lx = 50.000 (m)
1
No m m (m) | Em  (kN/m) (kN/m?) m m
120.000 10.000 12.000 1000.000 50.000 20.000 0.0591
1 >S 0.0591 m
2
No m m (m) | Em (kN/m) (kN/m?) m m
100.000 10.000 12.000 1000.000 50.000 20.000 0.0702
2 >S 0.1293 m
3
No m m (m) | Em  (kN/m) (kN/m?) m m
80.000 10.000 12.000 1000.000 50.000 20.000 0.0852
3 S 0.2145 m
4
No m) m (m) | Em (kN/m) (kN/m?) (m) m
60.000 10.000 12.000 1000.000 50.000 20.000 0.1020
4 >S 0.3165 m
5
No m m (m) | Em (kN/m) (kN/m?) m m
40.000 10.000 12.000 1000.000 50.000 20.000 0.0781
5 >S 0.3945 m

FORUMS8




- 30 -

3.1

(m)

(1)

(2

(m)

(1)

(2)

FORUMS8




- 31 -

0 -
9

() (D (@)

0 —_—
9

() (D (@)

FORUMS8
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(m)

(1)

(2)

FORUMS8
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() Em
(B+2hn * tan 6 )L

log
(L+2hn * tan 6 )B

Em =
1 (B+2hi + tan 8 ) (L+2hi-1 - tan §)
2 —1log
Ei (14+2hi « tan 0 ) (B+2hi—1 + tan @)
Em Bz L
(m)
L (m
hn (m) B 3
hi (m)
Ei i
0 6 =30°
(@) Ri
. -(1+v) (1-2v)gi = ai [ bi (ai—)"+ bi’  ai-x [ bi ai+x [ bi
Rix = X ~log - + — tan’!{— - — tan’'|—
Em -+ n 2ai (ait+x)+ bi’ ai ai—x ai aitx
Rix X (m)
qi
\ v=0.3 0.45
2ai (m B=2ai
2bi (m) L=2bi
n
X (m
1
Lx = 30.000 (m)
1
No . (m (m (m | Em  (kN/m%) (KN/m*) (m (m
1 120.000 10.000 12.000 1000.000 50.000 0.000 0.00000
1 S 0.00000 m
2
No . (m (m (m) | Em  (kN/m%) (kN/m*) (m (m
1 100.000 10.000 12.000 1000.000 50.000 0.000 0.00000
2 S 0.00000 m

FORUMS8



- 34 -

3
No m m (m) | Em (kN/m%) (kN/m?) m m
80.000 10.000 12.000 1000.000 50.000 0.000 0.00000
3 S 0.00000 m
4
No m m (m) | Em (kN/m) (kN/m?) m m
60.000 10.000 12.000 1000.000 50.000 0.000 0.00000
4 S 0.00000 m
5
No m m (m) | Em  (kN/m) (kN/m?) m m
40.000 10.000 12.000 1000.000 50.000 0.000 0.00000
5 S 0.00000 m
Lx = 50.000 (m)
1
No m m (m) | Em (kN/m) (kN/m?) m m
120.000 10.000 12.000 1000.000 50.000 20.000 0.00876
1 >S 0.00876 m
2
No m m (m) | Em  (kN/m) (kN/m?) m m
100.000 10.000 12.000 1000.000 50.000 20.000 0.01096
2 S 0.01972 m
3
No m) m (m) | Em (kN/m) (kN/m?) (m) m
80.000 10.000 12.000 1000.000 50.000 20.000 0.01480
3 >S 0.03453 m
4
No m m (m) | Em (kN/m) (kN/m?) m m
60.000 10.000 12.000 1000.000 50.000 20.000 0.02385
4 >S 0.05838 m
5
No m m (m) | Em (kN/m?) (kN/m?) m m
40.000 10.000 12.000 1000.000 50.000 20.000 0.02097
5 S 0.07935 m

FORUMS8
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4.1

=50

50 —

-100

100 —

-100

100

FORUMS8
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-500

500

-500

500 —

FORUMS8
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5.1

1
Lx = 30.000 (m)
e
d = 2.000(m)
dw = 0.500(m)
de = 2.256(m)
Cv
PO (kN/m*)
: (kN/m?)
P 4P X P+ AP)
(KN/m?) (A P":PO+A P-P*,P":PO q0 )
Cv m/ )
Ch m/ )
Ch=a Cv
a = Cv
uP
DN
1
PO(KN/M?) P(KN/m?) | P(kN/m?) | Cv(m/ ) | Ch(m/ )
UP | 7.200 50.000 20.294 0.008640 0.008640
DN | 19.000 49.997 36.207 0.004320 0.004320
DN | 52.200 49.856 72.989 0.017190 0.017190
2
PO(KN/M?) P(KN/m?) | P(kN/m?) | cv(m/ ) | Ch(m/ )
UP | 7.200 100.000 27.782 0.008640 0.008640
DN | 19.000 99.990 47.548 0.004320 0.004320
DN | 52.200 99.598 89.016 0.017190 0.017190
3
POCKN/M?) P(KN/m?) | P(kN/m?) | cv(m/ ) | Ch(m/ )
UP | 7.200 150.000 33.643 0.008640 0.008640
DN | 19.000 149.976 56.662 0.004320 0.004320
DN | 52.200 149.063 102.498 0.017190 0.017190
4
PO(KN/M?) P(KN/m?) | P(kN/m?) | Cv(m/ ) | Ch(m/ )
UP | 7.200 200.000 38.624 0.008640 0.008640
DN | 19.000 199.937 64.497 0.004320 0.004320
DN | 52.200 197.690 114.211 0.017190 0.017190
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5
POCKN/TY) | P(KN/m?) | PCKN/MD) | Cv@/ ) | Ch(w/ )
1|UP| 7.200 249.999 43.033 0.008640 0.008640
DN | 19.000 249.736 71.456 0.004320 0.004320
4 | DN | 52.200 242.689 124.069 0.017190 0.017190
Ch
ch(m/ )
D(m) 1 2 3 4 5
i 2.256 0.008640 0.008640 0.008640 0.008640 0.008640
ii 2.256 0.004320 0.004320 0.004320 0.004320 0.004320
iii 2.256 0.017190 0.017190 0.017190 0.017190 0.017190
5.2
eZ
1 s t = — +Th
LT BRF ] h
de : (m)
Ch : m/ )
U
Th :
t )
S (m
. Th
JE#E U=1 - exp|-8 (0=2U<1)
F(n)
3en— 1 de
F(n) = — - logn — YR n = o
de (m)
dw (m)
CT1: 0 CT2: 0 CT3: 0 CT4: 0 CT5: 0
LT1: 50 LT2: 50 LT3: 50 LT4: 50
1
i
U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Th 0.011 | 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127| 0.170 | 0.244 | ——
t( ) 7 14 22 32 43 57 75 100 144 | ——
S(m) 0.004 | 0.007 | 0.011 | 0.015| 0.018 | 0.022 | 0.026 | 0.029 | 0.033 | 0.037
ii
U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Th 0.011 | 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 13 28 44 64 86 114 150 201 287 | ——
S(m) 0.021 | 0.042 | 0.063 | 0.084 | 0.105| 0.126 | 0.147| 0.168 | 0.189 | 0.210
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U 0.1 .2 3 | 0.4 .5 .6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 3 7 11 16 22 29 38 50 72—
S(m) | 0.016 | 0.033 | 0.049 | 0.065| 0.082 | 0.098 | 0.115| 0.131| 0.147 | 0.164
i
t( ) 3 7 11 16 22 29 38 50 72—
S(m) | 0.244 | 0.292 | 0.318 | 0.336 | 0.348 | 0.359 | 0.367 | 0.375| 0.390 | 0.551
2
i
U 0.1 .2 3 | 0.4 5 6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 57 64 72 82 93 107 125 | 150 194 | ———
S(m) | 0.007 | 0.014 | 0.021| 0.028 | 0.035 | 0.042 | 0.049 | 0.056 | 0.063 | 0.070
ii
U 0.1 .2 3 | 0.4 .5 .6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 63 78 94| 114 136 164 | 200| 251 | 337 | ——
S(m) | 0.049 | 0.098 | 0.146 | 0.195 | 0.244 | 0.293 | 0.342 | 0.390 | 0.439 | 0.488
iii
U 0.1 .2 3 | 0.4 .5 .6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 53 57 61 66 72 79 88| 100 122 | ——
S(m) | 0.012 | 0.023 | 0.035| 0.047 | 0.058 | 0.070 | 0.081 | 0.093 | 0.105 | 0.116
i
t( ) 53 57 61 66 72 79 88| 100 122 | ——
S(m) | 0.580 | 0.612 | 0.630 | 0.642 | 0.652 | 0.663 | 0.676 | 0.691| 0.710 | 0.960
3
i
U 0.1 .2 3 | 0.4 5 6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 107 114 122 132 143 157 175 | 200| 244 | —
S(m) | 0.002 | 0.003 | 0.005| 0.006| 0.008 | 0.009 | 0.011| 0.012 | 0.014 | 0.015
ii
U 0.1 .2 3 | 0.4 .5 .6 .7 .8 .9 1.0
Th | 0.011| 0.024 | 0.038 | 0.054 | 0.073 | 0.097 | 0.127 | 0.170 | 0.244 | ——
t( ) 113 128 144 | 164 186 | 214 | 250 301 | 387 | ——
S(m) | 0.037 | 0.073| 0.110 | 0.147 | 0.184 | 0.220 | 0.257 | 0.294 | 0.331 | 0.367
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U 0.1 .2 .3 0.4 .5 .6 .7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | —
t ) 103 107 111 116 122 129 138 150 172 | ——
S(m) 0.008 .016 .024 | 0.033 .041 .049 .057 .065 .073 | 0.081
i
t( ) 103 107 111 116 122 129 138 150 172 | ——
S(m) 0.854 .874 .885 | 0.896 .906 .917 .929 .943 .962 | 1.256
4
i
U 0.1 .2 .3 0.4 .5 .6 .7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | ——
t( ) 157 164 172 182 193 207 225 250 294 | ——
S(m) 0.001 .003 .004 | 0.006 .007 .008 .010 .011 .013 | 0.014
ii
U 0.1 .2 .3 0.4 .5 .6 7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | —
t ) 163 178 194 214 236 264 300 351 437 | ——
S(m) 0.023 .047 .070 | 0.094 2117 .140 .164 .187 .210 | 0.234
il
U 0.1 .2 .3 0.4 .5 .6 .7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | —
t( ) 153 157 161 166 172 179 188 200 222 | ——
S(m) 0.002 .005 .007 | 0.010 .012 .014 .017 .019 .022 | 0.024
i
t( ) 153 157 161 166 172 179 188 200 222 | ——
S(m) 1.069 .082 .091 | 1.100 2109 .118 127 2139 .157 | 1.466
5
i
U 0.1 .2 .3 0.4 .5 .6 .7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | ——
t( ) 207 214 222 232 243 257 275 300 344 | ——
S(m) 0.003 .005 .008 | 0.011 .013 .016 .019 .021 .024 | 0.026
ii
U 0.1 .2 .3 0.4 .5 .6 .7 .8 .9 1.0
Th 0.011 .024 .038 | 0.054 .073 .097 .127 .170 244 | ——
t ) 213 228 244 264 286 314 350 401 487 | ——
S(m) 0.013 .026 .039 | 0.052 .065 .078 .091 .104 2117 | 0.130
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U 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
Th 0.011| 0.024 | 0.038 | 0.054 | 0.073| 0.097 | 0.127 | 0.170 | 0.244 | —
t( ) 203 207 211 216 222 229 238 250 272 | ——
S(m) 0.002 | 0.004 | 0.006 | 0.007 | 0.009 | 0.011| 0.013 | 0.015| 0.017 | 0.018
i
t( ) 203 207 211 216 222 229 238 250 2712 | —
S(m) 1.232| 1.241| 1.248 | 1.255| 1.261 | 1.268 | 1.276 | 1.286 | 1.301 | 1.609
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